HEE G &AL AN

A SXNEH
T HASS MO X
Ciel: J|ZMEERIIZ 2(NEII2 SE3IH) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXE M 3,048,265 2,923,997 124,268
= 92,080
== 18,410
Al 2,937,775
NasSs dgotd X2 846,960 901,400 ABA,440
= 92,080
< 18,410
Al 736,470
IEMEER)|Z 2 (HEII2 SE3H) 47,500 47,500 0
I=dEE2HI = 2l 7,500 7,500 0
201 er23 | 6,500 6,500 0
01 At2teltl 6,500 6,500 0
O&t=s MEA Mar2e] MEersr=
4,000,000& 4,000
OSN3 Z2Id SN2+
2,500,000& %12 2,500
202 04| 1,000 1,000
01 =LHO LI 1,000 1,000
O8= M HSAE] Tt
1,000,000 1,000
I=dEE2dI IS Sit 40,000 40,000
501 Ekt= 40,000 40,000
01 2Its A= 40,000 40,000
OXEIIY AMEI=2 Xt
40,000,000& 40,000
z=0 XA (Y2230 I32Z SE3H) 799,460 853,900 A\54,440
= 92,080
= 18,410
Al 688,970
=20l 2L (XA 679,360 693,900 14,540
308 AFAIEHMSOIE 679,360 693,900 14,540
07 HXHH 2L RE5S 679,360 693,900 14,540
Oflzgd dzdl fFE=
677,000,000 677,000
OAMERIH Y= 2,300,000& 2,300
Ogrlsdt Mzl B2 60,0002 60
esHEg R Fa 10,000 10,000 0
= 4,000
= 3,000
Al 3,000
201 er2 3| 5,000 5,000 0
= 2,000
[ 1,500
Al 1,500




2A:

S HASE MEE T
Col 02301 NB(A2ES)I22Y S¥s) (69 =)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
01 At2t2ltl 2,720 2,720 0
OAMRES 7Y 400,000& 400
= 160
S 120
Al 120
O2zsdiz 82 1,800,000 1,800
= 720
S 540
Al 540
O9ARZ0l HolPIAs| A
70,0003 x2Z +23] 280
= 12
[ 84
Al 84
Oolz30iB2IA R DY)
240,000 240
= %
= 72
Al 72
02 S3=4gl 2,280 2,280 0
OIRZOIE && 2WRS
2,280,000 2,280
= 912
= 684
Al 684
202 OH| 5,000 5,000 0
= 2,000
= 1,500
Al 1,500
01 =LHA LI 5,000 5,000 0
Oflzsl Q)2 5 & =54 2
3,200,000& 3,200
= 1,280
S 960
Al 960
OflzsdAlg2d WS &4
1,100,000& 1,100
= 440
= 330
Al 330
OZ2UJXF Atdl2el =ZH|
700,000 700
= 280
= 210
Al 210




A SXNEH
T HASS MO X
cel o220 NV (BEEII22Y SH3H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=0 2Y == 4,000 4,000 0
= 3,200
== 560
Al 240
307 212+01& 4,000 4,000 0
= 3,200
=S 560
Al 240
012z € 2/=H] 4,000 4,000 0
o=l fE &== 4,000,000 4,000
= 3,200
= 560
Al 240
=20 2Y 2d=s 3,100 3,100 0
= 2,480
= 430
Al 190
307 gl2to| & 3,100 3,100 0
= 2,480
= 430
Al 190
0122 & 3=H| 3,100 3,100 0
Ozl 28 2a= 3,100,000& 3,100
= 2,480
< 430
Al 190
Ll & ZoHel EXI101 FHl 61,500 60,000 1,500
= 49,200
< 8,610
Al 3,690
307 lztol & 61,500 60,000 1,500
= 49,200
== 8,610
Al 3,690
0122 & 3=l 61,500 60,000 1,500
Ol & Hojel 287 7 X
61,500,000 61,500
= 49,200
== 8,610
Al 3,690
AR ] 35,000 35,000 0
= 28,000
s 4,900




S SXHBD
HE: YA

¢ d=3 A (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,100
307 gl2tol & 35,000 36,000 0
= 28,000
= 4,900
Al 2,100
0192 & 3=Hl 35,000 35,000 0
OAdBda= bl 35,000,000& 35,000
= 28,000
& 4,900
Al 2,100
ot 2220 ALY 6,500 27,900 A21,400
= 5,200
< 910
Al 390
301 EtE NS 6,500 27,900 21,400
= 5,200
== 910
Al 390
01 AR 2EHSHS(RDNEXRTH) 6.500 27,900 A21,400
Ot A=220 AS 6,500,000 6,500
= 5,200
=S 910
Al 390
HWRes(SXEAMY) 2,201,306 2,022,597 178,708
e (K012 SZ3IH) 2,160,866 2,010,597 150,269
WEHARE (XIS SE3IAH) 2,160,866 2,010,597 150,269
704 OIE = 2,160,866 2,010,597 150,269
01 o&= 2,160,866 2,010,597 150,269
OSegNgtdsI=s
60,866,000& 2,160,866
BEXE(22SSEIA) (2 & SEA) 40,439 12,000 28,439
BENE(=2SSEIA) 40,439 12,000 28,439
802 gtetsJIEt 40,439 12,000 28,439
01 =Ex3tte= 22,550 10,000 12,550
O=12xs HALNH By 22,550
02 Al - CHIEXSEES 17,889 2,000 15,889
OkHI2xs ZH&N By 13,964
ORE0IS= ttete ete 3,925




H & 0l & AHS B Ml A

20243 20l4 JIEFSESIAH &l

M Za0|9 A 25
Pl AIQICHT BH2| 2 29 BASHAYUXIREL Y B2 =23 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=)y 11,487,617 11,957,939 A470,322
= 50,000
Al 11,437,617
S8 N2HA 2= 390,940 1,702,923 21,311,983
== 50,000
Al 340,940
AAET] 2ol ¥ 2Y A (MGRFREL & 22| £ 390,940 1,702,923 A1,311,983
E3H)
= 50,000
Al 340,940
s3 - JIgRXEX 29 2 177,940 1,583,423 1,405,483
201 Ler23| 121,340 192,072 AT0,732
01 At2teltl 12,840 30,472 A17,632
OZEsY & 2B =& 3,000
OsEEA AtRdae] J|28h|
500,000& * 122 6,000
od - 27| Zxt=z 60,0003 =20 * 122 1,440
ORIFHIAIAE |X2el
100,000& #2)H 2+ 123 2,400
02 S3=gl 108,500 161,600 A53,100
Os3gEI IS
2,500,000 128 30,000
OssdgHI HEH AMEZ
125,000 =2CH* 122 3,000
OssHHA datx =8 500
OSS0I8AIE FAlZc 3,000
OSHMYE otz
6,000,000& ~12& 72,000
206 MH=H| 6,600 12,500 /5,900
01 MHZH| 6,600 12,500 /5,900
ON&E Satzs 7
20,0003 *150H 3,000
Ottt s=EAl 23l M-
300,000 * 12 3,600
401 Al HIZL S 0HHI 50,000 1,375,683 1,325,683
01 AlZ8| 50,000 1,375,683 1,325,683
Os3UEX AIES E8H &€ 2+ 50,000
OiIH1H] 113,000 119,500 26,500
801 OflHIH 113,000 119,500 26,500
01 8HollbIgl 113,000 119,500 26,500
@] 113,000,000 113,000
FESEHA R BxSA 100,000 0 100,000
= 50,000
Al 50,000




SA BRI

33 SA0Y NEMA 7=
CHol: AT 2l U 2% BASHAYKDES ¥ B2l SYaH) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 100,000 0 100,000
= 50,000
Al 50,000
01 Al&H| 100,000 0 100,000
OFEs3HI K52 B=3At 100,000
= 50,000
Al 50,000
Y 2AAHI(ZH ) 42,320 38,309 4,011
ol (AEXIRES L 2e| SEHIH) 42,320 38,309 4,011
el 2ad| 42,320 38,309 4,011
101 @124H| 42,320 38,309 4,011
03 SRH(RINHA) 222+ 42,320 38,309 4,011
Ossgizel 22T 24-(HHAURHY, 95
) 42,320
=JllE=s(1188) 2,186,630« 1& 92 19,680
=llEs(1288) 2,217,660 x1H 32 6,653
c¥2+E(1158)
2,186,639 x 1 +50%+22] 2,187
cHEFIHI(1158)
2,186,639 x22| *60fk 2,624
cAXRERIITE 2,176
oXAFAsE 150,000 x 18 %123 1,800
od A A 140,000 x 12 %123 1,680
oG 150,000 x1& %123 1,800
oMRY 130,000 x1& x123] 1,560
otERE 180,000& x 12 =123 2,160
HReS(IH) 11,064,357 10,216,707 837,650
W (&I 72 & 22l SE3A) 11,064,357 10,216,707 837,650
WeAHHXIS(MEXREL L 2| SE3IH) 11,064,357 10,216,707 837,650
704 OIE = 11,064,357 10,216,707 837,650
01 &= 11,064,357 10,216,707 837,650
OSEMatEaI= &= 11,004,357




H £ 0l & AF & S

20243 20l4 JIEFSESIAH &l

Al A

SA
M MUK Y - 252
CHel: WAAZTHRIS KBAI (LR AFHT AT RS ) (crol: @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ol 861,000 1,860,430 A999,430
Jl 461,000
Al 400,000
OIHXIAE JHe - 2522 861,000 1,800,430 999,430
Jl 461,000
Al 400,000
LHAFHIS R2AMS (LHAFHEIXNZSESAH) 861,000 1,860,430 299,430
Jl 461,000
Al 400,000
LHAFHAS ISR EAS 211,500 193,530 17,970
Jl 211,500
201 et 3| 3,600 3,600 0
Jl 3,600
2 s5=34l 3,600 3,600 0
OgdAFHIAXZAIE SS2EH|
3,600,000 3,600
Jl 3,600
206 M=l 138,730 128,730 10,000
) 138,730
01 M= H| 138,730 128,730 10,000
OgdEAFHIS XA MHEH
138,730,000 138,730
Il 138,730
401 A2 HIRL 201 56,000 56,000 0
Jl 56,000
01 AlZH| 56,000 56,000 0
OZMA=HITIAXZALY DISIIBAIE 2
= 56,000,000 56,000
Il 56,000
405 KHoHFSHI 13,170 5,200 7,970
Jl 13,170
01 AL =S F = 13,170 5,200 7,970
OgEAFTHIF XA Kt S
13,170,000& 13,170
Jl 13,170
LHAFHAS SEXNFAS 249,500 466,900 A217,400
Il 249,500
206 M=H| 149,500 366,900 A217,400
Jl 149,500
01 MZH| 149,500 366,900 A217,400
OgHAFTHAG NI Mz
149,500,000 149,500
) 149,500
405 AHaHE = 100,000 100,000 0




SA
M MUK Y - 252
CH: SRAZHT NAY(LEAZHN AT 2SS (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 100,000
01 ML ESFSHI 100,000 100,000 0
OgdAFHIAXZAIYE =57
100,000,000 100,000
Jl 100,000
LHAFHASXE OIEAI 400,000 1,200,000 800,000
206 MH=HI 250,000 550,000 300,000
01 M=4l 250,000 550,000 A.300,000
OgdAFHIAXNZAIE ME8|
250,000,000 250,000
401 AIEHIZL SO 50,000 150,000 100,000
01 Al&HI 50,000 150,000 100,000
OgEAFHIS XA A&
50,000,000 50,000
405 KHaHF S| 100,000 500,000 400,000
01 ML ESFSHI 100,000 500,000 400,000
OgHA=HISXZAY ESXE
100,000,000 100,000




Al

202495 20l4t DIEISE A &
M ZAID
2 Ol XEE TADHE

Ol &F A

Al

A

Chel: ZDI0IEH TAIEAIE BHI(SAHEASUNEA SH3H) COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 183,492 367,520 A184,028
DICHXI B R AN 109,914 180,007 A70,098
0TS TAHEAL FO(SAHZALHNZL = 109,914 145,564 735,650
E32)
FII0IEY TAIHEANE 24 109,914 145,564 A\35,650
401 Al HIZ R 0HbI 109,914 145,564 A\35,650
01 Al&HI 109,914 145,564 235,650
OFJI0IE TAIAH=AE =3+ 100,000
OZdgitr+=2 9,914
WLES(ZAIM) 73,578 34,070 39,508
HEHH(SAIHEAIZURIE L SE3IH) 73,578 0 73,578
HEHHXIS(ZAHEANLUXZ L SE3H) 73,578 0 73,578
704 OIS 73,578 0 73,578
01 &= 73,578 0 73,578
OSEHELEEIIZ =
73,578,000 73,578




H & 0l & AHS B Ml A

02445 204 JIEISE3IAH &
DEY
HEDE S8 8
=H3 2NH(ERFBE SBEH) CERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1,248,538 550,883 697,655
isws s4 & 1,248,538 550,883 697,655
=ZX NS (=xrE2e] SE31H) 98,430 105,704 NT,274
SYHFEX NEEH=S 98,430 105,704 NT,274
201 ZeH22 ] 61,030 63,304 N2,274
01 ArR2eltl 1,840 29,640 A27,800
OMEANBAE BHANDI|I| ARE 2
400,000& *2CH+23] 1,600
ONMAF +42 20,0002 122 240
02 E324Hl 59,190 33,664 25,526
ORER3z 1,200,000 = 12& 14,400
OCCV stle=s 70,0002 * 150 x 12& 12,600
OZHFII IV SN2+
500,000 *3H 1,500
OZHUFII L0ITSAAY X2
1,900,000& * 128 22,800
OINMHZ SLAAE S22
1,760,0002 * 1+ 14 1,760
OSYFEI ¢S 2 AMAEH RAEs
41,584,000 *12. 2%+ 1 5,074
OFFX o4 28 S
44,0002 +204 212 1,056
202 04l 2,400 2,400
01 =WHO4 bl 2,400 2,400
OREXE Y25
100,000 2% *123] 2,400
401 Al&HIZ 20| 35,000 40,000 A5,000
01 AlIZHI 35,000 40,000 25,000
OZY = II o5 IV &%
35,000,000 35,000
SYFXE 018 MHIA HMID(=XHE 2] SE3IH) 1,150,108 445,179 704,929
SEF=XE =4 2 816,616 430,725 376,891
201 ZEt2 & 20,330 24,725 N4,3%
01 Ar2eltl 19,340 20,765 A1,425
OBYFAE MATY X2 7,040
oHIEH 550,000 4 CH 2 4,400
oS 660,000 »2CH+2 2,640
OZHX WETAH OIS M 3,300
of =gt 50,0002 *10JH 2*43] 2,000
oEE= M 650,000& *23] 1,300
OZYFAE 2R LUE
9,000,000& 9,000
02 224l 990 3,960 22,970
OFUE FII= AIAE A SAR
16,500 301 2 *20CH 990




SA: DED
Hu: (ZLE 54
Sl TUERE 018 AHIA RD(ZXEBE SH5|H) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
207 ARl 60,000 60,000
01 H1E4H] 60,000 60,000
OHHBAl F=XHE == A 89
60,000,000& 60,000
401 Al HIZ S OHbI 736,286 415,000 321,286
01 A28l 736,286 415,000 321,286
OBAHOIE 212 SEFNMHE =8
395,090,000 395,090
OS2IH= o DYFAY X4
326,196,000 326,196
Osg=xtd HAE 2 A= I 15,000
o0ls ot 400,000 * 100K 2 4,000
oFXtE HXIE 200,000& * 1574 2 3,000
oIt 24 100,000 *309H 2 3,000
oFXEA FH| 1,000, 0002 x57H 2 5,000
Oild1d| 333,492 5,454 328,038
801 ofielHl 333,492 5,454 328,038
01 Letolblsl 9,000 5,454 3,546
oodisl 9,000
03 URE=R=E=3 324,492 0 324,492
ou=esFES (=04 324,492




H £ 0l & AF & S

Al A

FA ASXH D
Mo MHR FHSSEM
CHolr DEFE p2|(FBAY SYs) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ra=INESH, 6,743,842 6,345,225 398,617
= 800,000
Al 5,943,842
EEE FH2EH 4,516,410 1,907,621 2,608,789
== 800,000
Al 3,716,410
SSTE 22U (FEAY SEIH) 147,139 124,323 22,816
ANSESSFE 2e| 107,881 108,065 A184
201 Ler23 | 16,286 104,369 /88,083
01 At2t2ltl 2,022 8,088 26,066
OAlE 0ot E2e| 223 7Y
100,000 32 300
OSAlEXel =sEFEs 1Y
2,2203x100& 222
OAIZOHIE s 22l =208 |X
DN LB UELEEE
300,000 +3& 900
OEIFLOHIE 22| U2
200,000 32 600
2 s5=34l 14,264 9,281 82,017
0332 € AMAl 3,060
oSHOIUE ssdIIe=s
300,000 +3& 900
oSHOHIE 2eld daes
20,0002 +3Z 60
oSHOIESSYot+=ER=
500,000 *3& 1,500
oRERS 200,000 +32 600
OEIFLOHIE A& =R A 7,672
oHER X 1,000 %30,687 M *25% 7,672
O=eg2YUOHIE AERX 2,365
oAER A 2,000 %4, 730m" *25% 2,365
OFE2X0HIE AlE =X 1,167
o= =AM 2,000& %2,333m *25% 1,167
309 HE=S 91,59 91,59
01 SAt- SHEYTES 91,595 91,595
OEHHAl Al 2t2|8H &S
91,595,000& 91,59
ZQUFEES 2l 4,258 4,258
201 fer= 3| 3,202 3,202
01 At 2|l 3,202 3,202
OgHRAd =8 3,000 «4AICH 12
O8Xtz B XZ8E =2
200,000 1 A CH 200




Y FHSUES
ZExa pel(FLUAY SE3IH)

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBXS WALE 2 =&
270,000 =2 CH 540
O=0IFE SXts Z28 |X2c/l
2,450,000 2,450
202 04| 1,056 1,056
01 =LHOLI 1,056 1,05
Osils d7asd ¢
88,0003 x2& *22] 352
O8lts &g g9
88,0002 +22§%23] 35
OBXZ MR gesa
88,0002 x2H *23] 352
M3SAE=HEE S 35,000 12,000 23,000
309 HES 35,000 0 35,000
01 SAL- SHEYTES 35,000 0 35,000
OEISAI AlEBI2IBEH FSAY HES
35,000,000& 35,000
TEL MY DB (FEAIY SE3) 279,542 221,698 57,844
U= AI2= &l 210,000 211,440 1,440
309 HES 120,000 0 120,000
01 SAt- SHEYNES 120,000 0 120,000
OEIAI AlSBIZIZEH FEAIY HES
120,000,000& 120,000
401 A2 HIRL R 0HbI 90,000 211,440 A121,440
01 Al&HI 90,000 210,000 A120,000
OASUHFE AIEE FHI(3 &)
90,000,000 90,000
(Gla1L]] 69,542 10,258 59,284
801 OfielH 69,542 10,258 59,284
01 Lerolblbl 69,542 10,258 59,284
Oullblbl 69,541,130& 69,542
ST HSBAMS (ALY SE3A) 4,089,729 1,561,600 2,528,129
== 800,000
Al 3,289,729
SSSUTE HEAY 4,089,729 1,561,600 2,528,129
[ 800,000
Al 3,289,729
401 AlEHIZL S0 4,089,729 1,561,600 2,528,129
= 800,000
Al 3,289,729
01 Al&HI 4,089,729 1,556,000 2,533,729
OSEIZYUFY A
4,089,729,000& 4,089,729
= 800,000
Al 3,289,729
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2A:

Hu: YREE(HENHD)
tel: XS (FHAY SE3A) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBASE2 NOIE AFwsa se
21,000,002 <5 CH 105,000
OEIHIY QIHOIIE QFESa e 526,945
o308 (2 %) 10, 154, 0002 +5H1 O} 50,770
o498 (B E) 16,735, 00025 O 83,675
o498 (T 20,000,000 <5 CH 100,000
oHE (HE) 23,500, 0002 *5A1l CH 117,500
o508 (H2H) 35,000,002 <51 O} 175,000
NI (FEAS S al) 1,461,672 3.676.510 ~2,214.838
HEAANE (FeAY SZa) 1,461,672 3.676.510 ~2.214.838
704 012 1,461,672 3,676,510 ~2,214.838
01 1= 1,461,672 3,676,510 £2,214,638
OSEWHIEIIS 0=
1,461,672,0002 1,461,672




H £ 0l & AF & S

20243 20l4 JIEFSESIAH &l

Al A

FA: Aot AIE A
B GsAL)| SEY N
CH9l: BRI EAIE 2 (SEINH S5/ (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Aot=EAI A 14,315,337 11,482,917 2,832,420
= 3,555,000
Jl 700,000
= 587,650
Al 9,472,687
HSdH ~2EE i 1,728,722 2,573,658 \BA4,936
EHIIEAE 2 (=2MHE SLEEA) 1,728,722 2,573,658 A844,936
St=XelAlE 2d2e 790,912 572,204 218,708
101 @124H| 46,067 20,945 25,122
M ORINZZ2NSE S 46,067 20,945 25,122
OFANEL S S8dY] 46,067
S =] 9,860 *6A| 2H<2EH x248& 29,344
oFFrd 59, 1603 x2& »52& 6,153
o Xtr=g 59,1603 x2& 12! 1,420
o2tAlH| 5,000& 2 »2482 2,480
ocHES I 500,000 x22H +23] 2,000
cAUEE = 41,398,000& *11.28% 4,670
201 fer=2 3| 724,045 493,635 230,410
01 AtR2te|HI 73,770 69,260 4,510
ogazesd 59,400
ogX 60,0003 x2EH*130&! 15,600
o=X 60,0002 x2ZH +3652 43,800
ORIFHIAIAE FX2tel
110,000& * 12 1,320
O={Me EX U= (SES 490) 450
OMBIIES HOIsT B3 442 2,000
OBt - 2LH2IAE SHAHEY 29
1,900,000 #4271 7,600
OdtxicANg 28 423 3,000
02 S3=gHl 650,275 424,375 225,900
OsE2= & HA 636,675
oIz 50,825,000 «12& 609,900
oMol R3 200,000& * 122 2,400
o JIAAER 200,000& * 128 2,400
o NHSAHAl 100,000 *3CH 300
oXtESxt HIIBA =2
25,0002 «30H 75
oCClV dESdAEs 100,000& ~ 12& 1,200
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